Valll 12

1) Wolisdy: Gl =
?—g Z(k+y—z)+2(>(—/ 1)
(—Dj’ ;Z&HJ’) -2 (x-/-/l)

/4’(” (%, /}’) b(aam[/.e
Své,é& wnd /4 MQA //&Im

hotnn EZ(X y.-3) ¢2 (& ,v,4)-o

[/ — /Il =

< }pd Yo 3 =0 A X,-y,-A=0
C:’_> \D= Z /\ \/, =-/1
/5'/ c/a w;,LQzA wed ¢
Of - Z42=1
D x* / J
/



oylv ’ ML%!«:&.M
bl{- ( [Al‘-’/lf /(Métul
N s
D xoY

— HR&SA /L(ﬂ Aﬂk« ( >

= Wuwr EW, ¢ >0
‘:—’) [oéq_,&.) /(/L'Mlm ot (Z/’)

[4@{4 /(MM har Obucj/\ J‘oyZo/'L

A«lw,v\ ' C\)ie 7))

2) A/M ot -3
i 4—()(-.*\/ 3) -+ é& “A)s
B__E 4[54/»3) é(kfy~/l)

/4'(9 (ko/)f ) L(akal/ -e-L
Sl bl wii Lk, Mas /
fLocna J/



\L

é cf(ko +7o ’?)2-(—66(0‘7»’/0::-—0

E> <oty m SO N xyyaAZO
G x_ =2 A yo=/1

/&l a(q C\sir/c@:f L ¢
2“[’» =4z{«(’+/—?)2+30(k—y~4) t
X

?:\Q = 4 + //

'072

L - 4 =

D\ Dy
6( /}’.>) [Z/ )

_E(L 7 =

aiCl 4 = DDo S /
(,1)=0 /{l/fiﬂ vy
1 1 e -Mafy

%% eub oS,



%«L\mi v o K(/L\ c/a-’—u:
(x+y—z§ﬁf [x—/-gz L f
wor Loe (xy) = (2]4) sk 0

e d sansd e '/a>/'9§U‘,
wiid w0 (2|1) btide

((Wﬁw[ %oé%éu /LL”\
1) y (o5ti45) = sin (275K A)
= mv\(-/r)=(,)







